.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Evening Session

Q1. led the Indian freedom struggle through the 'Indian National Army'.
A. Lala Lajpat Rai B. Subhash Chandra Bose
C. Bipin Chandra Pal D. Dadabhai Naoroji

Q1. A WA T FT & ATCTA F HRAT FIATaT HATH FT Aqed 9411
A. SITelT SIToiqd I B. g S

C. fefae dgurer D. greTTs ARIS

Q2. International Yoga Day is celebrated on every year.

A. 5t September B. 14t February

C. 215t June D. 5t March

Q2. I AT T &< ATl Y HATIT AT B

A. 5 fRdsx B. 14 ®adr

C. 2134 D. 5 &

Q3. Gir Forest National Park Wildlife Sanctuary is in

A. Bihar B. Maharashtra
C. Uttar Pradesh D. Gujarat

Q3. iR a1 T 35T 31X F=geita FRT #E

A. S8R B. AgRTST

C. 3caR wer D. R

Q4. “"Parent's Worship Day" is observed on 14th February in

A. Chattisgarh B. Uttarakhand

C. Rajasthan D. Madhya Pradesh
Q4. ' Ag-Rq Raw' # 14 GG F FAATAT AT ¥

A. BedraaG B. 3ccRr@s

C. TerEu= D. HEF weer
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Q5. It has been found that Rakhigarhi village in the district was one of the oldest
ancient Indus Valley Civilization sites.

A. Rewari B. Mewat

C. Hisar D. Fatehabad

Q5. W UT AT E & orer &7 Treferd) o, Y aréY warar & wad g Tydt & § o a1

A. ars B. #ard

C. IR D. BdgleIg

Q6. During the Mahabharata days, Haryana was known as

A. Dhandharti B. Bahudhana
C. Iswar Niwas D. Veerdharti
Q6. AEIHRT & feat &, gRmom #i ATH @ SATAT SATAT AT
A. STERCY B. g

C. SR fAarg D. &R

Q7. History mentions that , the Chinese scholar visited Thanesar during the reign
of King Harsha.

A. Fa Hien B. Megasthenes

C. Sung Yun D. Hiuen Tsang

Q7. sfag g & 3oo@ Aaar ¢ Helt fagare, TSI &9 & HAHTT A YHAET AT A
A. &1 fRareT B. AITEYAST

C. gar geT D. & cmeT

Q8. In the Third Battle of Panipat which was fought in the year 1761, Ahmed Shah Abdali,
the king, defeated the Marathas.

A. Afghan B. Persian
C. Mongolian D. Turkish

Q8. 1761 & Y 71§ grehiua &y fud azg & FIGeNTE EHE ATE sgTall A FAST I gIAT|
A. 3Tl B. ®IRET

C. #mfeora=T D.qﬁ
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Q9. Indian actor Parineeti Chopra was born in

A. Ambala B. Faridabad
C. Rohtak D. Rewari
Q9. R I aRoiifa AasT 1 = #garrem

A. 3rFdTeT B. wiererg
C. Vgas D. @rsr

Q10. Indian wrestlers Geeta Phogat and Babita Phogat belong to which place in Haryana?

A. Rewari B. Hisar

C. Rohtak D. Balali

Q10. ¥R ggerare dr wiere 3R F&fidr wiere gRATOT # 7 918 FT W arelt 82
A. arsr B. e

C. Ugds D. Selrell

Q11. Shri.Om Prakash Dhankar is the current ________ Minister of Haryana.
A. Agriculture B. Education

C. Tourism D. Transport

Q11. »ff 3NH Y UAFT gRAVT F adAT ____ FAN &l

A. Y B. Rram

C. T D. gRag

Q12. What is the new name of Mewat district?
A. Balrampradesh B. Balramgarh

C. Nuhar D. Nuh
Q12. AT I FT 74T ATH 4T §?

A. TeRTHYCRT B. SoRHIG

C. TR D. dg

gl
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Q13. Who was the first Indian woman to win a gold medal at the Commonwealth games
2010?

A. Kirti Singh B. Sakshi Malik

C. Geeta Phogat D. Babita Phogat
Q13. FAAIY AFW 2010 H Fgol ygF Sider arel ygel IR ARFST Fier A2
A. i g B. @meft Afereh

C. 3frar wiere D. &I $rare

Q14. Post Office Passport Seva Kendra (POPSK) is currently available in two districts of
Haryana. Which is the third district identified to have a POPSK?

A. Kurukshetra B. Faridabad
C. Sirsa D. Bhiwani

Q14. rFuT e dar Fg (M.t dow.F.) adqre & eRaon & @ St F sueer ¥ AN Ty FT AT FAT R

et 9.3 .o &, Y T @ arely #2
A. Sma%-ar B. WIEEE
C. @ D. farr

Q15. Surdas flourished during the reign of which Mughal emperor?
A. Akbar B. Humayu
C. Aurangzeb D. Jahangir

Q15. ¥ FI FATE & ATHASI H YIGTH HT Igcl ATH 3T UT?
A. 3RS B. gAY
C. 3Rl D. STERiR

Q16. Which of the following weekly newsletter is published from Rohtak?

A. Mera Rohtak B. Haryana Tilak
C. Mera Haryana D. Apno Desh
Q16. NgaF ¥ Mwafaf@a # ¥ Fla a1 WreaiRs g THRT grar 2
A. A AT B. gRamom foern
C. 3T g D. 319« g2r

Page 4 of 28



.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Evening Session

Q17. ‘Amanat Ek Shahid Ki’ is written by

A. Shree Dhar B. Guru Charan
C. Balram D. Krishna Bachal
Q17. 'IAd T&F AL ' F AT@H g

A. 5T R B. 7% o1

C. gt H D. 0T STdel

Q18. Banabhatta was a poet in the court of

A. Babar B. Harshavardhana
C. Akbar D. Gopal Singh
Q18. amrsTE & @R # U F3 A

A. STeT B. gYatie

C. 3R D. 3N4Ter &g

Q19. Which of the following is a hill station in Haryana?

A. Karnal B. Sonipat
C. Pinjore D. Morni
Q19. a# ¥ &ie, gRATOT FT vF Ber TEAA 2?

A. FHTATH B. ®isiad
C. Hak D. ARG

Q20. Which district of Haryana receives minimum rainfall?

A. Kurukshetra B. Sirsa
C. Ambala D. Hisar
Q20. RN # Fy O & gad HA anf gt 2

A. e B. fawar
C. 3fFdTem D. fgarR
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Q21. Damdama lake is situated in district.

A. Gurgaon B. Hisar

C. Rohtak D. Faridabad

Q21. gHEHT 3l orer & feua B

A. I3t B. feeR

C. U D. wllerere

Q22. The Aravalli Range that runs through Haryanaisthe ______ range.
A. Eastern B. Southern

C. Central D. Northern

Q22. 3rael gad AV ST gRATT A Pt qoRar g @6 wdd Aoft

A. gdf B. afarofr

C. 7 ey D. 3cadl

Q23. In most parts of Haryana, you can find the type of soil cover.
A. red B. sandy loam

C. desert D. clay

Q23. gRamon & srftrwier Rwwt &, 3mger AN 3@ F1 AT FHAT B
A. @Ter B. f$ alee

C. Yfareamir D. ety

Q24. The Governor is appointed for a term of years.

A. 4 B.5

C.6 D. No limit

Q24. T=IITT H ast i rafr & v Frgea R s @

A. 4 B. 5

C.6 D. &g HAT AL

Evening Session
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Q25. Who appoints the Advocate-General of a State?
A. Chief Justice of India B. President of India

C. Prime Minister of India D. Governor of the State

Q25. TF T F AgiaEar # AgFa Fia Fwar §2

A. 9RT &1 7Eg warareher B. R & TSeufd
C. 9Rd &7 TTeT H3T D. =T &l A=I4Td

Q26. The Haryana legislature is

A. Unicameral B. Bicameral

C. Both Unicameral and Bicameral D. Neither Unicameral nor Bicameral
Q26. gRToT #r el gl

A. Th Healr g B. & Hewig

C. Tsh Heelrg 3R & Hewirg gt D. & a U&h "oty AR o € & Feaha

Q27. Haryana celebrates "Tree Day" on

A. 15t Aug B. 15t July
C. 15t May D. 15t Mar
Q27.FRaon ___ # "gaT Raw" A B

A. 15 30TEd B. 15 JeT$
C. 1573 D. 15 A

Q28. Which of the following is the most prominently found tree in Haryana?

A. Shisham B. Peepal

C. Eucalyptus D. Aloe Vera

Q28. frarfaf@a # & Fla @1 93, TRAVT # FH W@ T F 9T A AT 93 72
A. ofrer B. oo

C. gefereed D. el &R
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Q29. International Horticulture Market was set up in which district of Haryana?

A. Panchkula B. Sonipat
C. Hisar D. Gurgaon

Q29. IR FRTATEAT I9R, fFy e & d9mT I o412
A. Fagell B. Hi=iad

C. RORrR D.a;swia

Q30. Pick the odd one out:

Scissor, Knife, Sewing machine, Axe
A. Scissor B. Sewing machine

C. Axe D. Knife

Q30. WA FT TIA F:

&, =1, Rrens #efe, Feerst
A. F=I B. fars sefet
C. W D. I1%

Q31. Find the analogy.

mckC : Ckcm :: jhty
A. JHTy B. Ythj
C. JhtY D. YHTj

Q31. FATAAT HT 9T A9MT|
mckC : Ckcm :: jhtY

A. JHTy B. Ythj
C. JhtY D. YHTj

Q32. What should come at the place of question mark (?) in the following number series?

14, 38, 52, 66, ?, 94, 108
A.72 B. 70
C. 80 D. 88
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Q32. farafaf@a Tear sf@en & e et (?) F T W F47 gl A1iRT?

14, 38, 52, 66, ?, 94, 108
A.72 B. 70
C. 80 D. 88

Q33. In a certain code, ROSE is written as SPTF. What will be GARDEN written as?
A. HBSEFO B. GARNED

C. BSHOFE D. GRAEND

Q33. @& [ARad Fis #, ROSE F SPTF fa@1 J1a1 ¥ GARDEN Ft 1 for@m smeen?

A. HBSEFO B. GARNED
C. BSHOFE D. GRAEND

Q34. 20500/500/10 =
A. 1.5 B. 2.2
C. 4.1 D. 3.3
Q34. 20500/500/10 =
A. 1.5 B. 2.2
C. 4.1 D. 3.3

Q35. A circle is divided into 15 equal parts in which 7 parts are shaded. If John throws a
dart at the circle, what is the probability that the dart will hit on the shaded part?

A. 7/15 B. 5/15

C. 6/15 D. 1/15

Q35. TH Teh F 15 RIaR 7011 F anfora fvam = § S & 7 it & oifea & = §) Iy ST s s &
T 3¢ T &, dY ST FIAT GHTEAT § fF 3¢ SR H1ET 9T T2

A. 7/15 B. 5/15

C. 6/15 D. 1/15
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Q36. A retailer purchased 15% of rice and 20% of wheat respectively from a wholesale
unit. Another retailer purchased equal quantity of rice and wheat amounting to 25% from
the same wholesale unit. Find the total percentage of rice that was purchased from the
wholesale unit?

A. 25.5% B. 24.5%
C. 26.5% D. 27.5%

Q36. TF eI fashdl & T U b1 A FAA: 15% Arael 3R 20% A @ET| T 37 Ger v A 34 9
fashar & SR~ aR&ATOr H 25% wrae AR A @lien| 9w fFar @ Fo fhaer yfaera araer wder 2ar?

A. 25.5% B. 24.5%

C. 26.5% D. 27.5%

Q37. Prakash spent Rs.1340 on repairing his camcorder, which he had bought for Rs.25000
one year back. He sold it for Rs.29800. What percentage of profit did he earn?

A.12.39% B. 11.45%
C. 13.13% D. 14.46%

Q37. Y o 3T FAFIET H AFAT W 1340 393 @9 FU, G 30 v A1 98 25,000 93 7 @der o1
39 50 ZQSOOWﬁWWIWﬁmﬂTqﬁ‘Qﬁwgm?

A.12.39% B. 11.45%
C. 13.13% D. 14.46%

Q38. An electric motor in a washing machine converts electrical energy into
energy.

A. Chemical B. Mechanical

C. Gravitational D. Radiant

Q38. T aifdrer #wafier # v sfFes Ay, Fagga st FolT & aged gl
A. TR B. i

C. ecdre D. fafaor

Q39. The common name of Ethanoic acid is
A. Lactic acid B. Acetic acid

C. Boric acid D. Sulphuric acid
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Q39. A+ TfAT F1 37 A gl
A. dfFes s B. tfafes vfs
C. aIR= tis D. TowIR® TRls

Q40. Anaerobic respiration takes place in the absence of

A. Mitochondria B. Oxygen

C. Hydrogen D. Stomata
Q40. TaARIRA® eTHH, & sreqafeufa # gyt §1

A. FTSTIHIT=gaT B. ittt

C. grsaral D. Y

Q41. is the synonym of "memorable".

A. Monument B. Memorial

C. Unforgettable D. Uninteresting
Q42. is the antonym of "populous".

A. Less populated B. Very popular
C. Overcrowded D. Filled with

Q43. Identify the meaning of the idiom:

"Blessing in disguise."

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

A. Something that is not favorable B. Something borrowed from someone

C. Something that is praiseworthy D. Something that seems bad at first, but is

actually favorable

Q44. The sentence given below may contain one or more mistakes. Identify the correct

sentence.

"Sheela is going to library to see the friend."

A. Sheela is going to the library to see friend. B. Sheela is going to library to see the friend.

C. Sheela is going to the library to see a friend. D. Sheela is going to the library to see the friend.
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Evening Session

Q45. Complete the sentence by choosing the correct form of the verb given in brackets.

Reema ran away when she
A. see

C. had seen

Q46. A @ ereg T AT reg TS |

%ol

N

A. "fder
C. fex

Q47. MY @ ereg #1 BT (A1) g a=y |

faare

A. AT
9

C. oy

Q48. Y@ifha FeTaX F1 3udFa e qard|

(see) me.

B. sees

D. saw

B. I

D. HaY

B. faer
D. g{refeT

Rgrar wisr 1 S@at wfrrar srdwarr sief e oo

A. FHASR gl

C. H &l

Q49. Y faW reg F1 Thaad T |

T
A. ool

C. #relr

B. 37931 & =

D. feell &I FTF FATS FET

B. #Tel

D. #Teet
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Q50. = fad ereq FT g™ |

g
A. gefrar B. gefray
C. gfer D. gf=eray

Q51. Which financial statement represents the accounting equation: Assets = Liabilities +
Owner's Equity

A. Income Statement B. Statement of cash flows

C. Balance sheet D. Profit & loss Account

Q51. Fi &1 R faravor 39 Awiwa FHIFIOT FT TEqd FT §: FOfeadt = IFa¢ + F@wt A s
A. 3T faer B. e JaTg faaxor

C. doF e D. =e7 AR gifel @rer

Q52. Money spent Rs. 100,000 as travelling expenses of the directors on trips abroad for
purchase of capital assets is

A. Capital Expenditure B. Revenue Expenditure

C. Deferred Revenue Expenditure D. Miscellaneous Expenditure

Q52. Yeitra wufeadt i wlig & faw e gR w faderst i amm & faw fFm r=r 100,000 w9T 7 @+
_®

A. Ielidere &9 B. ToTed @Y

C. AT Torea e D. fafay e

Q53. Original cost = Rs. 126,000. Salvage value =Rs 6000. What will be the depreciation for
2nd year as calculated using Units of Production Method, if units produced in 2" year was
5,000 and total estimated production was 50,000?

A. 10,800 B. 11,340
C. 12,600 D. 12,000
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Q53. 7 N = 126,000 AT §| T (HAeT) FT {ed= 6000 FTIT §| IcUea $1 515 R F 397er ¥ aroren
ZART GEY qY FT FeAerd fhaa gm, IfE gaY a¥ # 3curest 1 1§ st 5,000 ot 3R AT 3CUTET 50,000
ar?

A. 10,800 B. 11,340

C. 12,600 D. 12,000

Q54. A Bank Reconciliation Statement is prepared to know the causes for the difference
between:

A. The balance as per cash column of Cash Book B. The balance as per bank column of Cash Book
and the Pass Book and the Pass Book

C. The balance as per bank column of Cash Book D. The balances as per Cash Book when a certain
and balances as per cash column of Cash Book amount is paid into the bank

Q54. 3F gAY {aver # ffrT & ¥ F F i 3R F FRON FT 701 T & AT IR Fa@w s
A. U3 T 3R ITE o & ARl HictH & TR AT B. U3 FET 3R I g & I HleH & ITAR AW

C. Vg FET & S HIadH 3R Vb T8 & THhdl AadH & D. Nehs TET & AR AV ST Teh AR TR 6 7
AR AT ST T 975 &1

Q55. Present liability of uncertain amount, which can be measured reliably by using a
substantial degree of estimation, is termed as

A. Liability B. Provision
C. Contingent liability D. Contingent asset

Q55. yfafdaa aRr 1 gdwTe afca, 9% v Afaa Tav & sreparer & 393l garT RAvawsaar § AT ST Fhar
¢, 98 T FgellaT 82

A. giidica B. YTaeITeT

C. 3T EHS Iar D. 3 EH® Fufcd

Q56. In which of the following methods is the cost of the asset written off in equal
proportion, during its useful economic life?

A. Written down value method B. Straight line method

C. Units of production method D. Sum of the years' digits method
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Q56. frafaf@a # fra RAfYr & wofeq v amra 3 swAh snfds Shaer F va R Irequra # F1e & e 82

A. 3EREa e R B. Al Tk Rk

C. SHISIT HT 3cdTesT afer D. aut & Irer- f3foe I

Q57. Cash book is a type of but treated as a of accounts.

A. Subsidiary book, Principal book B. Principal book, Subsidiary book

C. Subsidiary book, Subsidiary book D. Principal book, Principal book

Q57. \&s Td FT TF YR &, dAfheT g @rar : #3990
& el 81

A. gl qEcdeh, AT JEdsh B. AT JEIH, Heldsh TEAH

C. "HglIsh q&deh, HeTds JEdh D. AT qEds, AT JEds

Q58. Accounting Standards in India are issued by

A. Central Government B. State Government

C. Institute of Chartered Accountants of India D. Reserve bank of India
Q58. R & @T AH ZarT Iy e o §

A. Feel TER B. I5T IR

C. $¥ITYL 3iTh TS Tah3eH 3w sf3ar D. #RcT Rerd S

Q59. X Ltd. had allotted 10,000 shares to the applicants of 14,000 shares on pro-rata basis.
The amount payable on application is Rs.2. Mr. Vineet applied for 420 shares. The number
of shares allotted and the amount carried forward for adjustment against allotment money
due from Mr. Vineet will be

A. 60 shares; Rs.120 B. 340 shares; Rs. 160
C. 320 shares; Rs. 200 D. 300 shares; Rs 240

Q59. X faffits A FYUTUra 3TUR W 14,000 AT F raewl F1 10,000 W Irafed vl smdea w7 af¥r 2
TUT 3| Reha o 420 Y & e smde B smafea fre oo Rt A e sk Refla @ & arae oftr &

AT ¢ H wras F I arel vl g
A. 60 ¥RR; 120 T B. 340 ?9=K; 160 &UT
C. 320 =X; 200 T D. 300 2R=K; 240 &IT
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Q60. In the books of D Ltd., the machinery account shows a debit balance of Rs.60,000 as
on April 1, 2012. The machinery was sold on September 30, 2013 for Rs. 30,000. The
company charges depreciation at 20% p.a. on diminishing balance method. Find
Depreciation for 2012-2013 and Profit or loss on sale of machinery.

A. Depreciation = 6000; Profit/Loss = 6800 profit B. Depreciation = 9000; Profit/Loss = 6800 loss

C. Depreciation = 4800; Profit/Loss = 13200 D. Depreciation = 12000; Profit/Loss = 13200
profit loss

Q60. D fafaes $I framel A, 1 3t 2012 Ft 60,000 FIT FHAA @rar 3fae Ay @ @1 &1 I8 7A=d 30
fdax 2013 # 30,000 F9T # = 7E| FIA 20% T aF gedt A (BARRET sRver) Argemm yomreh w
& 91T AT §1 2012-2013 & AT g1 AT HY 3T Al Y fashY 93 amsr a1 @1fd &1 gar dome?

A. HoIgrd = 6000; @me7/g1fe = 6800 ey B. FeTerd = 9000; omst/gTia = 6800 grfel
C. HeTgrd = 4800; =me7/gifa = 13200 omst D. HeIg = 12000; omsi/glia = 13200 gl

Q61. To test whether sales have been recorded, the auditor should draw a sample from a
file of

A. Purchase orders B. Sales orders

C. Sales invoices D. Bill of loading

Q61. g JATT w3t F AT fF a1 fshy gor Y 31§ &, ar@r adats & BIS @ THAT AT ATRTI
A. T 3TeA B. farshr 3meer

C. foshr arerrs D. oigTe &7 faer

Q62. For vouching of which item, the auditor is most likely to examine cost records?

A. Commission earned B. Bad debts recorded

C. Credit sales D. Sale of scrap

Q62. ¥ #ig & vegg« (a3fR) F AT, @ wliad gann ana ReE f Jra F H ga@ 70F gHE=r §?
A. TSI e B. &ot farar arar gard %o

C. 3uR fashr D. &hy &I fashr

Q63. Audit of transaction does not include
A. Propriety audit B. Efficiency - cum performance audit

C. Audit of receipts D. Audit of expenditure
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Q63. da-&aT FY a@T gdlam & AT AT B
A. 3R oar gder B. &THdT UG foIsqTesT SIEmaiat
C. wifcaat &1 or@r e D. =g &I oi@r et

Q64. Which of the following sections deal with qualifications of the auditor?
A. Section 141 B. Section 224
C. Section 226 D. Section 143

Q64. frafaf@a & ¥ Fia @ arr Awr wders H Avgar ¥ GERT 2
A. EIRT 141 B. &IRT 224

C. YR 226 D. 9T 143

Q65. Which of the following expenses should not be treated as capital expenditure?

A. Expenses paid on installation of a plant. B. Cost of dismantling a building in case a new
building is to be constructed on the land.

C. Legal expenses incurred to defend a suit D. The fees paid to engineer who constructed the

related to title of patent. The suit has been lost. plant.

Q65. RFfafla & ¥ Fia ¥ =74 I GSlTd T & T 7 FET AT STl AT

A. TIT I TATIAT TR AT fohdT 3T &2 | B. U& AR &I TR &1 @ afg 38 1ff R o 718
SARA 9T STt 8Tl

C. 9¢T & &A1 § HeiftIdT FHeheH & Fa1d H dgel ohaT 1T D. HIT T TAHTOT el arel SlfardX Sl B T $ITcTeT |
T G|

Q66. Auditing standards differ from audit procedures in that procedures relate to

A. Audit assumptions B. Acts to be performed

C. Quality criterion D. Methods of work

Q66. W TET AT @M THaT FFha13it ¥ Bt & FIfF 3 ¥ gafta g &
A. oGT &t Aegad B. fo¥sares fhT Sifet aTel

C. [uTdedT T Hater D. & & & allsh
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Q67. Equity shares of ABC Ltd. held by XYZ Ltd. are in the custody of Stock Holding
Corporation of India Limited (SHCIL). The auditor may verify this investment by

A. Reviewing last years' working papers.

C. Obtaining a certificate from SHCIL

B. Obtaining a certificate from a responsible
official of the ABC Ltd.

D. Obtaining a certificate from XYZ Itd.

Q67. XYZ faffits garr ABC faffts & W@ 71w sfFadt IR weiF gifes smfvers 3itw i3 dfaes

(va. . .ams.ua. ) i FAET # §| @ e g@rn 0 Ade i g

A. o a¥ & &IH & qEddel Hr ST Fah

C. TH. 9. U378, Uel. ¥ Teh YHATUT U UTod Hleh

FT 37 g B

B. ABC faffics & s foFaeR 318l & T JA0T ux
gTedT R

D. XYZ faffics & Ua YHUT 9T 9red aleh

Q68. Which of the following is not an example of a circumstance, in which additional tests
of control will not be performed after obtaining an understanding to plan the audit?

A. Controls are known to be cost ineffective.

C. Controls are effective and evidence already
obtained is adequate to support a planned
assessed level of control risk which is less than
high.

B. Controls are effective but auditor opines that
performing tests of control and reduced
substantive tests would not be cost effective.

D. Performing extensive substantive testing would
not lead to efficiency.

Q68. fFs # ¥ a1 v ¥t aRFRURY F1 3eTevor gt &, ot am fian F fAw s A JEER yea F F a5

=T @1 rfaRed adietor g fFar sTeen?
A. TSI=0T HT 9T TTHATAT AT STl g |

C. fg=or garrdy § 31X gger @ wred fhw arw waATor fAEer
SNTEH & ER & Hedishel Hlal B GASA L & T
TaTeg €, S 3= ¥ A g

Q69. A typical factory overhead cost is:
A. Freight out

C. Depreciation on machinery and equipment

B. fAI=0T GeTdll g1t & oifeheT of@r gdieteh & Hlelell g foh
fAZFOT AT GOETOT AT 3R FeT TETOT H FAT AT
AT JHTEY g1 gra|

D. U9 #eT TETOT A & FHRIeldll =fel g1

B. Stationery and printing
D. Postage
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Q69. AFT H ¥ FIT U FRTEA $T AHT FILT AT §:
A. STedY ATl #1eT B. Ty 3k Mifdar
C. #AMN 3R 370l W} 519 D. ST&-cag

Q70. Which of the following cost is associated with Labour turnover?
A. Preventive Cost B. Training Cost

C. Sunk Cost D. Pre-production cost
Q70. fara # A FT W AT 4o (AT TAITR F WY 3T g% 82
A. fAaRe omeTd B. 9fRI&1oT emera

C. fawer amerd D. qd-3cures dmTd

Q71. Which among the following is not a cause of labour turnover?

A. Personal Cause B. Unavoidable Cause
C. Avoidable Cause D. Predictable Cause
Q71. RAFafaf@d & @ Fia 33 (AT) TG FT Th FROT AGT 82

A. IFTITT HROT B. 3raRgry &RoT

C. @R sRor D. 3rUf&dT HRoT

Q72. If the minimum stock level and average stock level of raw-material A are 4,000 and

9,000 respectively what is its re-order quantity?

A. 10,000 B. 5,000
C. 13,000 D. 15,000

Q72. I A A F FTA-ATH &I 7I-1aA FeiF T AR 3itwa weie T F#e: 4,000 311 9,000 3, ot Fa3w fF
3WHT T TS AT et graft?

A. 10,000 B. 5,000

C. 13,000 D. 15,000
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Q73. Unit cost information is important for making all of the following marketing decisions
except

A. Determining the selling price of a product B. Bidding on contracts

C. Determining the amount of advertising needed D. Determining the amount of profit that each
to promote the product product earns

Q73. 551§ dNId I+ RI Arfaf@d Qoo b d @ 1 srsaT weft & fow Ageaqt
A. 3cd1E & fshr e feivor B. &1 &Y SrelY 9T

C. 3¢UTG I §EIaT &t & fAlT AT AT HT A & D. T 3c9TG GanT ifoid T ST arer aret v AT &
freiRor ferefiRor

Q74. Which among the following statements is not true?

A. P/V Ratio = Change in profit/Change in sales B. Total Fixed Cost = Total Contribution + Profit
x100

C. P/V Ratio
Q74. Arfaf@d & & sl a1 Fy«T g AL 82

A. dt/dl 31edTe = ST & IRac/ [kt # aRade x100 B, Fof R WIFTcl= Fed Aeere + ofrer
C. /Y 37equre = T8 wmere/.8. e D. d/dr 31equrel = Arere/fashr

Fixed Cost/BES D. P/V Ratio = Contribution/Sales

Q75. Which among the following is not used for apportionment?
A. Labour Cost B. Work Cost

C. Sales value or quantity D. Gross profit on sales

Q75. Arfaf@d & ¥ frewr 3Tl yerraa (3mei=de) & forv agt fFar amar @2

A. 3F AT B. & oI
C. foshr Hoar 3rar Arr D. fshr ox Aehel amer

Q76. Which among the following is not an unavoidable cause?

A. Seasonal nature of business B. Discontentment over the job / working
environment

C. Change in plant location D. Disability, making a worker unfit for work
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Q76. Arafaf@a # ¥ Fa1 va 3aRed FrRoT 7E 82
A. TTAR T HGHr Jepfar B. SIH IT HIH JTATEROT T IHATS

C. TIF & T # aRadeT D. faerelierdr, 1 & foIT ga T 31319 8=l

Q77. The rate of interest is 12%, the price per unit is Rs.50, the number of units required in
a year is 5000 and the cost of placing one order and receiving the goods once is Rs.54. How
many units should be purchased at a time?

A. 250 units B. 300 units
C. 400 units D. 450 units

Q77. U HY & 12% @, wfar Ifeie FoAd 50 TUT §, TF ¥ # 3Taea® swsAl F1 §&AT 5000 § AR v AR
o 3R Te IR AT YT FI Y AT 54 FAC | A A0 B UF THY W Fadr swEar @il e aRe?

A. 250 Srsar B. 300 SsAT
C. 400 srsar D. 450 sahrsar

Q78. From the following data, find out the Break Even Point of Lee Ltd.
Variable Cost = 60,000 (60%), Fixed Cost = 30,000 (30%), Net profit = 10,000 (10%) and
Sales = 1,00,000 (100%)

A. 65,000 B. 75,000
C. 70,000 D. 85,000

Q78. T 31eT ¥ Lee fAfARE & dnsr-3ranst YUY (3% gaa wage) aad|
IREdHAT deTd = 60,000 (60%), AT @mra= 30,000 (30%), YE @17 = 10,000 (10%) 3R fshr =
1,00,000 (100%)

A. 65,000 B. 75,000
C. 70,000 D. 85,000

Q79. Calculate Marginal Safety if a company produces single product which sells for Rs.20
per unit. Variable cost is Rs. 15 per unit and fixed overhead for the year is Rs. 6,30,000 and
profit is Rs. 60,000.

A. 2,50,000 B. 2,60,000
C. 2,40,000 D. 2,30,000

Q79. I TF HYs) T Tehel 3c9IG HT 3cUTed FId! ¢ 5T 20 FTIT 9y 3FE I Aevar §1 3R 901 15 T© gfy
ga1$ ¢ 3 a¥ & AT 2R 3aves 6,30,000 TIT JAUT AT 60,000 T &, aY IWHT AT AR FT I0TAT FH|
A. 2,50,000 B. 2,60,000

C. 2,40,000 D. 2,30,000
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Q80. Three workers A, B and C are put on a common task for which the total remuneration
is Rs.150. A works for 40 hours, B works for 60 hours and C works for 44 hours on the job.
The hourly rate is Rs. 0.75 for A; B gets Rs. 0.80 per hour while C gets Rs. 0.50 per hour.
What remuneration will each man get?

A. A=Rs.45, B =Rs. 75, C = Rs. 33 B. A =Rs.40,B =Rs. 70, C = Rs. 30

C. A=Rs. 50, B =Rs. 80, C=Rs. 37 D. A=Rs. 40, B

Q80. T FH A, B 3 C I v A1t 1o 9T 9 forwa faw For miisfs 150 Taw 81 A F 40 e w17 ¥,
BA60 R FHFAINCA44 R FHFAN AF v ufd aerer 0.75¢; B v ufd gerev 0.80 3R C &
faT gfa ger g¥ 0.50 §| aY Ia1Bv & A+ e w fhdar aiivsf@s Baem)

Rs. 70, C = Rs. 44

A. A = 45 §9T, B = 75 9T, C = 33 U B. A = 40 9T, B 30 ®9T

70 ®9T, C

C. A = 50 ¥9T, B = 80 ®9T, C = 37 &qU D. A = 40 T, B = 70 §9T, C = 44 §IT

Q81. A company produces product A which sells for Rs.20 per unit. Variable cost is Rs. 15
per unit and Fixed overhead for the year is Rs. 6,30,000.

Calculate sales value needed to earn a profit of 10% on sales.

Calculate sales price per unit to bring BEP down to 1,20,000.

A. Sales value = 1,50,000 , Sales to bring down B. Sales value = 3,00,000, Sales to bring down
BEP = 23.25 BEP = 30.25

C. Sales value = 2,50,000 , Sales to bring down D. Sales value =2,10,000 , Sales price to bring
BEP = 25 down BEP = 20.25

Q81. U FYaAl A 3cUIE FT 3cUIEA FI ¢ ST 20 FIT Y FH1E 9T a7 AT 1 IR AT 15 39 i 318 &
3k a¥ & AT T 3tawes 6,30,000 FT &

fashY 9T 10% T AT FAT Y FTWA F HTAR Ay HeT AT 1017 F

#.5.9. %1 1,20,000 a% A9 @ F v iy gfae fhr 7o F oE F:

A. T3 7o = 1,50,000 , Sr.g. @ S s ot & faw B, foshr #ed = 3,00,000, .87 &7 A9 o & faw
foshr = 23.25 fashr = 30.25

C. {9 gz = 2,50,000, 3. . Hr AT o=t & fdw  D. foshr {e= =2,10,000 , T.3.9. &1 o o= & fow
fashr = 25 fashr = 20.25

Q82. XYZ Ltd. requires component A for manufacturing their products. Calculate the
Economic Order Quantity using the information given below.

Annual demand for component A = 8,000 units, cost of placing an order = Rs. 200 per
order, cost per unit of A Rs.400, carrying cost % p. a 20%.

A. 300 units B. 200 units
C. 250 units D. 350 units
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Q82. XYZ fAffes #! 379at 3cqrel & AT & AT gew A &Y 3maegFar &1 A & ¢ AT F 3gAnr F i
JTERA ATAT Y T HY |

oeH A ¥ AT a1f¥is Afar= 8,000 HTSAT, M 2 A AHIT = 200 T yfy 322w, A F IfY FHTS AT 400
W, ufd ¥ TEREE danea 20%|

A. 300 srsar B. 200 ShsAT
C. 250 s&rsar D. 350 sahrsar

Q83. In a company, weekly minimum and maximum consumption of material A are 25 and
75 units respectively. The reorder quantity as fixed by the company is 300 units. The
material is received within 4-6 weeks from issue of supply order. Calculate minimum level
and maximum level of material A.

A. Minimum = 100 units, Maximum = 300 units B. Minimum = 200 units, Maximum = 600 units

C. Minimum = 250 units, Maximum = 650 units D. Minimum = 150 units, Maximum = 350 units

Q83. UF Fuell 7 A WAt Y WicdTied wgota AR fAwae @ua A 25 AR 75 sFEAT ¢ FIA @R
fruife ger: amaer AT 300 sw$AT ¥1 AT M F IR @A F 4-6 FeaTe F AW WA e el B W A
& FgeTaH Ta¥ AR s FTaw A e F

A. SAGH = 100 3HEAT, 3fHdA = 300 FHSAT B. #gsIdd = 200 FH1sdl, HRHad = 600 SHedl
C. #gIdH = 250 FH1sdl, JfUFAH = 650 FHSA D. #gsTad = 150 3Hredl, HRwdH = 350 sHreAl

Q84. Income which accrue outside India from a business controlled from India is taxable in
case of:

A. Residential only B. Not ordinarily resident only

C. Both ordinarily resident and Not ordinarily D. Non-resident

Resident

Q84. #Rd ¥ FIRT fFv I are AR & T HRT F 98T @ 9Ied @1 arell 39 e & @ fFas o FT Iy
gt

A. Fadl faareT B. ddl AMHAY fardr g7

C. grEey fAard 3R gy Fard 78, aet & fav D. IR-fardy

Q85. Dividend paid by an Indian Company is :
A. Taxable in India in the hands of recipient B. Exempt in the hands of recipient

C. Taxable in the hands of company and exempts D. Not taxable
in the hands of the recipients
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Q85. AR FUell GART 3Tt FHAT wAT8iTer @

A. TccehdT & BTt 7 HRA 7 & A g & B. STCciehdll & gTail & B¢ 9o 8l &
C. huely & gl 7 & Qa7 3R Jrecehed & gl 7 o< D. & QT FAET grar &
oTeT giell &

Q86. "The value of total output of finished goods and services for any economy during a
year " is the definition of

A. Net National Income B. Gross National Product

C. Gross Domestic Product D. National Outlay

Q86. "TF a¥ ¥ aRret fhelt rdfeavyr & AT AR AT 3R FATEHt F F ScUTET FTHeT", TE #
ofReTT 1

A. € TS 3T B. Hehol IS 3cUTG,

C. ehel T 3cUTE D. Tsé gReay

Q87. National Income is viewed in terms of

A. Calendar year (January - December) B. Financial year (April - March)
C. U.N year D. Quarterly basis
Q87. T 3T ¥ AR & Tl

A. FsT a¥ (FAad - GER) B. e a¥ (3rde - #AR)
C. g U ay D. fa=mr 3mur

Q88. 'VAT' is an

A. Excise duty B. Ad valorem tax

C. Direct tax D. Specific tax

Q88. & (VAT) = gl

A. 3cUTE ok B. JUET X

C. 9cgeT #X D. fafrse &
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Q89. "India's economic policy: Preparing for the 21st Century" is a book written by

A. C. Rangarajan

C. Bimal Jalan

Q89. "sRa FY anfdw Afa: 214t 7 & v A", 77 TTAF

A. 9. TR

C. S#a STt

B. Damodaran

D. Vijay Kelkar

gan forgh 7€ 3
B. galete

D. fasrar Fere

Q90. Which of the following will represent the Tobin tax?

A. A tax levied on Nationalised banks

C. A tax imposed on industries which entertains
contract labourers

Q90. fF # ¥ w1 AR ¢Fw 't werqga FEM?
A. TSE-SH el T ST IAT X

C. &% o Holell HARSIoT §cf 3eAMIT I SIRAT STt arell
T

Q91. Double counting means

A. Counting a product at different stages of
production

C. Counting a product more than once

Q91. g Aard &7 3ref gl
A. 3cures & JAffesT TRON & 3cure $r [sadr
C. T& 3cUIE FT T ¥ 318F TR [Fadr

B. To invest in infrastructural development

D. A tax imposed on all transactions in capital
market for FII

B. 319GcHS [dhrg & 9 hear

D. UH.3M8.378. & v Yot arafi 7 il Sefeed I ofeman
SATeT aTell &Y

B. Counting a product at first stage and last stage
of production

D. Misleading conclusion about size of National
product

B. 3c9TE & Ugel TROT 3R 3ifasd =xor & 3cure & A=ar
D. IS 3G o 3THR & aR H HHS fTshy

Q92. The gap between Domestic product and National product is significant for a country

with
A. Small foreign investment

C. No foreign investment

B. Medium foreign investment

D. Huge foreign investment

Page 25 of 28



.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Evening Session

Q92. W 37UTg AR WA 3791 & oI & IHe} 0F arer 3 & fAw Aot 7
A. o faeelr faaer B. #iegH facel Aaer
C. F1s faeely Aaer 78t D. §3 facelr faasr

Q93. In India which of the following is regulated by Forward Market Commission?

A. Currency futures trading B. Equity futures trading
C. Commodities futures trading D. Forex trading

Q93. 9Rd & T & FleT FRas ArHe FE garT FERa A srar €2

A. ST gER e B. 3wy ¢fe

C. HAMSET wgus gfEar D. faeeft 7ar &

Q94. Which one of the following brings out the publication called 'Energy Statistics' from
time to time?

A. Central Statistical Organization B. Planning Commission

C. Power Finance Corporation Ltd. D. Central Power Research Institute
Q94. AFT H U FleT WA WA W 'FoAT T ATHF TP YHITAT FIAT/FIAT §2

A. FET HITCTHIT HseT B. ISt 3TN

C. UTaR HEd HraRee fafdes D. el faegd HeJaerel TEUTeT

Q95. Debit balance in Cash Book means

A. Overdraft B. Overdue balance
C. Favourable balance D. Credit balance
Q5. YFs T A AR AT FT 7T & -

A. 3aRgHe B. 3ifacy A

C. 3% A D. ST AN

Q96. Overhead Budget Variance is a sub-variance of which of the following?
A. Overhead volume variance B. Overhead efficiency variance

C. Overhead cost variance D. Overhead price variance
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Q96. 3T T9I€ IR, AH ¥ FhawT 37-3iav §2

A. 39T YHTAT 37T B. 3UNTT FHIITHAT 37T

C. 3T AETT 37T D. 3T AT 37T

Q97. Who conducts the Management audit of a company?

A. Qualified cost accountant B. Qualified chartered accountant

C. An accountant D. Any knowledgeable person

Q97. Fualt # YatreT rET THET FieT FIaT 82

A. TEATITCT AR ST B. 3(¢dmvTcd AdT JI@ThT
C. JWHR D. STAPRY IWet aTell s oY safFa

Q98. Which of the following is not a relevant cost?
A. Replacement cost B. Sunk cost

C. Marginal cost D. Depreciation

Q98. 3aH ¥ FieT AT AFeT Hara a7 &2

A. STEATTeT SfraTed B. g&il oere
C. HiHATTdeh drerd D. HcIgrH

Q99. Which of the following is the income effect of inferior goods?
A. More B. Negative

C. Perfectly elastic D. Inelastic

Q99. 57 & FieT AT RATwew fsgse AT F1 31T yorra 82

A. ¥H B. slhRIcHS

C. 3y 7 T YAy D. 39cTTET

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Page 27 of 28



vAdv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Evening Session

Q100. Exemption under section 54 is available to -
A. All assessees B. Individuals only

C. Individual + HUF D. Any Partner
Q100. &R 54 ¥ TEd B¢ Fo¢ Ao ¢ -

A. el iR B. &had safdd
C. IfFd + T3, T, D. 1S off IslerR
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